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QUESTION 1

A media company surveys the end users of their AEM Sites website. The survey identifies that it is difficult to locate
content on the site due to lack of relevancy and slow performance when navigating through the large volume of content. 

To address both issues, the business team suggests integrating an innovative taxonomy product to the company s AEM
implementation. The product is new on the market and the development team has no experience with the technology. 

Which two steps should an Architect recommend to evaluate this new feature? (Choose two.) 

A. Develop the integration as proof of concept with sample content 

B. Test usability of the feature with selected business users 

C. Develop the integration and deploy it to 50% of the production AEM instances 

D. Develop the integration as proof of concept with full production content 

E. Test usability of the feature withselected end users 

Correct Answer: BD 

 

 

QUESTION 2

A company with various departments wants to use tagging to improve search capability. Each department is restricted
to use its own tags. How should an Architect organize the tags? 

A. Create a department sub-tag in each tag 

B. Use department ID as a prefix of each tag 

C. Create a namespace for each department 

D. Create tags in "departmentName:tagName" format 

Correct Answer: C 

 

QUESTION 3

A client using AEM 6.5 on-premise is experiencing an unsustainable repository growth of 100Gb a day. After
investigation, an Architect finds out that the DAM is causing this issue. Each image uploaded to the DAM triggers the
creation of approximately 100 renditions, necessary by business to consume in different channels and systems. The
client also complains about stale content reported by site visitors happening randomly in pages where article-related
components are present. 

How should the Architect address these issues? 

A. Leverage AEM Adaptive Image Servlet, cache image variations in Dispatcher, and reimplement article-related
components to use AJAX to load the content 
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B. Split WCM and DAM in separate instances, set up Connected Assets, and re-implement article-related components
to use AJAX to load the content 

C. Leverage AEM Adaptive Image Servlet cache image variations in Dispatcher, and implement a cache TTL in
Dispatcher 

D. Split WCM and DAM in separate instances, set up Connected Assets, and implement a workflow to purge all pages
affected by an article change in Dispatcher 

Correct Answer: B 

 

QUESTION 4

A new AEM Sites implementation includes a component that lists the 10 most recently published PDF documents in
AEM Assets. The component works as expected during development and passes QA testing. The business starts to use
it while entering content and uploading assets in preparation for go-live. A few days later, the component\\'s PDF list is
empty. 

What is the most likely cause of the issue? 

A. A PDF with too large file size has been uploaded. 

B. The component is missing a matching Oak index. 

C. The component is missing the HTL display context to escape the PDF title. 

D. A PDF with incorrect MIME type has been uploaded. 

Correct Answer: A 

 

QUESTION 5

An AEM Sites implementation is migrating from on-premise to AEM as a Cloud Service. Previously, the application was
deployed in a single package for both code and access policy nodes. After initial deployment and testing in the new
infrastructure, it is reported that user permissions are not working as expected. 

What change should the Architect make to address this issue? 

A. Update package metadata to use MergePreserve for handling access policy nodes 

B. Move access policy nodes to a dedicated package and install manually 

C. Refactor access policy nodes to Apache Sling JCR Repoinit scripts in the same package 

D. Document permissions and request the Customer Success Engineer to configure 

Correct Answer: A 
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